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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[

|

Th JHT s qe, S gesl
& HISAE WY HA: Sal & qdT T9G
I AT BT & ¢

[1] smisseh aderT

[2] stierT adierer

[3] T qieror

[4] FoaRs adierer

e NG e B N e | I E G
fafer e wX A fenliE & 8ie
e, Al fawE & A ' R

TR T & e = Je) @
gEq & TiafafeEt & SUEeT e ©

[1] Sg-Hadl e
[2] & forerer

[3] HEdrl SARRH
[4] AR AR

BR & A aeee, ke
M & g IUH F G B 7

[1] ST SarH

[2] T SUFMH

(3] 9 FafT S
[4] ANl SURH

Level-3/901

g

o

1.

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in

which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching
[3] Co-operative learning

[4] Programmed learning

of
to which

Spranger's classification

personality is related

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach



[A]

4. f=fifeg & @ a9-o felRE &
I NS WA B T T8 8 7

[1] I g § &
[2] Sfiae | S
[3] SO ereedt T WAl & &

[4] Sraited Fdred | qa

ST Ueh fRIR AU AIT-{UaT 9T i
Rem & oemd &ar 5, @ 98 o
BT AT Bl AR W ThT HT adl o’
7€ fhd TH &l THSH I & Th
JETEXT & ?

[1] &7 [2] SiRT

[3] w&wr [4] fowemas

e & geieas fabrE Risid &
APER, ‘GEHHh G H B
T 31, SN Rl HEIS FaRR
% R § WeE #dl o), deand
R

[1] &es yafedl  [2] Ja@ Sgh
[3] T [4] &TE©
‘TR g @ AR &R | G %
qy % B B ogEd b &Y A
oRefie fRar S Ebar & - A R
ded, 3 [ER 9 udhipd &, 39
e 9K 38y w1
HTo® el I8 qRA fohee A
g7

[1] SFR- Mo

[2] 79X Td dieX il

3] $eX ©d AEHA

EARISERGE]

|

|®

[~

Level-3/901

[4]

4. Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and
limitations

[4] Free from undesirable worries

'When an adolescent is unable to

g

show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive

|®

Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes
[3] Schema

[2] Basic Instincts
[4] Conservation

"Emotional

[~

Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of
[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson



[5] [A]

8. F=fofed & 9 f9-90 AT HIGT 8. Which one of the following is not a
B T gy 9y F8F R ? direct method for measurement of
(1] @R (2] SAT E[‘f]i“;df . 2] Project
> nterview rojection
[3] st 4] [3] Questionnaire [4] Observation
9. TH Eh% B UMl B U AT ST Gehdl 9. 'A horse can be brought near water,
g, forg U & o s W fpem S but cannot be forced to drink." This
qadll’ I8 YA ‘ﬁﬁ@%‘cﬁ ® 9ed & statement reveals the truth of
P oM %I T T BT © 7 Thorndike's which law of learning ?
[1] e &l =M [1] Law of Readiness
[2] =9 &1 [2] Law of Exercise
[3] 99 & | [3] Law of Effect
[4] sEdfcishar & fEm [4] Law of Multi Responses
10. kg & 9 HIFA-AT QT J; '] 10. Which of the following is not a level
TEE 7 of teaching ?
[1] STET &} [1] Basic Level
[2] Hfq &) [2] Memory Level
[3] M@y &R [3] Understanding Level
[4] i &) [4] Reflective Level
11. =ffed & 9 HF-AI TGS & 11. Which one of the following is not a
it o Rrsid & @ 7R ? part of Bronfenbrenner's Ecological
System theory ?
[1] w3kl foeeq [1] Micro system
[2] Bt foreem [2] Macro system
[3] A=Y e [3] Minor system
[4] 9ar faeed [4] Meso system
12. G TG qd El?{i%f ® g ¥ -4 12. Which pair is not correct with reference
W GEl 7e g7 to emotions and basic instincts ?
o T TR Emotion Basic Instinct
[1] g - ﬁ@_ﬁf [1] Anger — Repulsion
[2] SAEHR - T [2] Ownership — Collection
[3] sng=d —  foEm [3] Wonder —  Curiosity
[4] 9T - @ [4] Fear —  Escape

Level-3/901 P.T.O.



[A]

ERI USRS Ll SN CE I TG M|
BIF-81 TH Fis UG © 7

[1] QiR W ==

[2] G qedl W Fee SieEi
[3] EHfeeh Tl 1 AR

[4] @mfoTs Hedgh T gares

I & EEEdl R e @

APEAR, ‘AN H AR [
U Pl AR & 7

[1] R

[2] @IS

[3] Sifs®

[4] €A

frfafeg & @ #9-@1 S
Agal B YOG qOEeT § gefd
& 7 ?

[1] STEER SN dadt H
[2]3:?%#%3%%11‘4@?%@&%

[3] IAE guR G4 Hd

[4] 981 T ST el deidt P

freifofeg & @ ®F-T1 Fu99 Jgas
fafrTarelt & ded & 9@ 7&f e ?

[1] ®F & & = gl & F T8
B T

[2] Yo e errr-or &=t
O GeEfd & gl 2

[3] Jafrs fafran faem & fafe
MM N g B

[4] Fafms el &aw
SAERTET & HROT IA BRil B

Level-3/901

[6]

Which way is the most appropriate
for social development of
adolescents ?

[1] Discussion on socialization
[2] Essay competition on social values
[3] Organizing group activities
[4] Documentary on social relations

According to Maslow's Need
Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] Emotional

Which of the following task is not

related to Bager Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

[4] Ask and guess related task

improvement related

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.



17.

il FEFAT N AT Ay &
ST B He S o 7

[1] STqqre [2] gsad
3] FTa [4] STESi®

W Heet & e g o§ od
PIFT-H1 G A< HA &G @& © 7

[1] gT iR fore

[2] SieT R g

[3] G AR T

[4] S AR e

Presig sl & AgeR, e |
q B9 Y& H TH TER TeT S ¢

[1] oo [2] g
[3] @it [4] =R
Pleae & HEATaR, 98 & &)
1 At B, 99 Afvear § @-wiegd
Ao fosia |ffaT &t ST & 7

[1] gE-®ieT™

[2] e

[3] SOR-EIET™

[4] 9 & Bi5 T

21. FHfefad § @ -9 fearmEen &

UE | QA 7ef R 7

[1] J& GfETeT &t oTaeer &

[2] IE STATEIBAST I ST Tl
[3] IE TEAN I @S # 999 &l
[4] 98 ATRA H B 2

Level-3/901

[Z]

9. According

[A]

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type

of intelligence ?
[1] Analytical
[3] Theoretical

[2] Creative
[4] Practical

According to Kohlberg's theory,
what level of morality is it, when
includes

morality self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional
[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.

P.T.O.



[A]

22.

Al ABAT B TR ey
weer fees & faeta e
™7

[1] N & 9F =

[2] S

3] emgelss

[4] e wd ded

23. 99 % MiEd @ ¥ yfaseae &

& 8 AR ® JHEAH SeH
for Smar 2, @ g8 fRE oy @
g STEEA © 7

[1] fHig= st
PARECRERINRERRIG

[3] FiYEa ofav

[4] uRgcwelid Sfaaa

et &+ faem  Rsagar,
ERIRCES

[1] Sfces arafasmar @ orawen
[2] 391G @l Afewar i rEen
[3] T Wb @i STae
[4] @R A # T

25. MHeRad § @ SF-91 dE ST

P THRETH & G TG Bl & 7
[1] FEN fawresyg
[2] GRYEAT i A
[3] SARRET & HH

[4] GerTeTs Hiagfe

Level-3/901

[8]

22.

25.

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



26.

N
]

RUES RS I B -G U I R
FAT 5l T8 T SR ©

[1] StfaRe STRERT &

[2] S SARERET &

[3] SoT STFEREm &

[4] T @ B T

2. UH 15 a9 & g H gfE qled

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110
uF e & w9 § o9 foEnRiar &

SRR e N B CCot BTSN |
Frefatad & @ He-a1 F- 78f ST 7

[1] Asar B e

[2] 9T & G B

[3] ufcifsran @t e
[4] FTErl RidT 1 aiEr

29. @ S ‘&= @ R # o el &,

FHEAT © :

[1] Rdlees @ied

[2] MirEEieed

[3] afia

[4] g™

@ T I 5 TR H ARERE ©

[2] et
[4] QIS

[1] s=a
[3] SO

[91]

[A]
Rohit helps others to get praise. This
is an example of :
[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

What will be the
quotient of a 15 year old boy, when

intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/901



[A]

[10]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31. WEEEl @ 3 ¥ orgrg e

gﬁﬂ'{ :
[1] T - TS, deTEe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] &Il - MR, IR, MU

32. 9 feq § foame 999 ™ &1 5T

g 7

[1] &5 U M &d S =1ie
[2] A dfT gERY, St @ QR

[3] &9 8 &1 FB TEI e bl
[4] ST I, T & AR

33. ‘UMl gU-9 Il B dEd |

fohe U & FRE-fasiver @1 JERT gam
g 7

[1] IaTe
[2] dfqars
[3] GRRHEES

[4] TS

Level-3/901

34.

qugd s =l & oo e &
3ftc § 7 9F R ¢

[1] €8 - 38 dfed; T8 - d4e
(2] g - T; AT - A
(3] G - Feb; Gl - goaarg
[4] @S - &g; Sao1 -

5. S [ @d d@ R @ A

TR ‘AT I diE-6 6§ &
JETEI B 7

[1] HYeEares qs1

[2] STicErEes de

[3] WEaE® HEl

[4] HieTarereh Hel

36. FTH { BHI-G1 A FYH & ?

[1] TR FEER qE9 3
2] & & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= ¥ % ¥ oY SUTN @

ST BT B 7
[1] STy [2] v
[3] STgeH [4] =ty



38. HUWE &l gie § oG faehed YT ¢

[1] FThaaT -  HHERA
[2] QfERE - @Yo
RIEIE - I
[4] 3T%s - e
39. [ foshcy d foerl @ &1 sEnT gan
g7
[1] FfafsY
2] Tags
[3] TR9RsT
[4] fFegX

40. =R A UILHH B ghe § ‘o@T
g% 3T 9 e 9 & e AT 7

[1] &
[2] 9
[3] <X
[4] =ffeb
41. foone @ gie ¥ o7@7T [T T
[1] S - A
2] 9@ - StHE
[3] & - g
[4] @1 - TSET

[11]

[A]

42. =H § &9 9= ¥ ‘omET g9 @

SR e g § 7
[1] TRiee [2] HelEe
[3] gTEe [4] TXEE

43. TR & e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &<

44. Y 9= § M @A B

[1] st
[2] ggafe
[3] ugEn
[4] 9T
45. ‘TEH-TEHT H T W FFGIT [
g :
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/901



[A]

46.

50. Arrange

The word 'garrulous' means :

[1] talkative [2] abusive

[3] violent [4] abundant

the following jumbled
options in the correct order and then

choose the correct option :
(1) too many
(iii) the broth

(i1) spoil
(iv) cooks
[1] (@), (), (ii1), (i1)
[2] (1), (), (i1), (ii1)
[3] (i), (iv), (D), (1)
[4] (v), (i), (1), (ii1)

51. Fill in the blank with the correct

option :

Let us stay here, whileit ........... .
[1] is raining

[2] was raining

[3] has been raining

[4] had been raining

[12]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Which of the following options 48.
express the correct meaning of the
sentence given below ?
He is too cute to overlook. 50.
[1] He is too cute and he can be
overlooked.
[2] He is too cute but he can be
overlooked.
[3] He is so cute that he cannot be
overlooked.
[4] Although he is not cute, but he
cannot be overlooked.
41. Change the narration :
Kavin said to Mr. Cowper, "Please, 5.
be kind to me."
[1] Kavin requested Mr. Cowper to
be kind to him.
[2] Kavin requested Mr. Cowper to
be kind to me.
[3] Kavin asked Mr. Cowper to be
please kind to me.
[4] Kavin asked Mr. Cowper that he
must be kind to him.
52.

Fill in the blank with the correct
form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/901

52. Choose the part of the sentence that

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

54. Fill in the blank with the correct

form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[13]

[A]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/901

P.T.O.



[A]

[14]

- III (PART - III)
A 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o 9T &9 U9 STEIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : e 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

g & g9 X JA1 Y B -

TR W TE Ys 21 A Y H WeRr
X3 M@, @Y & Ye
g Remd & ?

[1] ST
[2] &RroT

3] @@
[4] Ui=™

62. @ , PR R 30 @ o B

feam & 3 €2 H, wafh amwEl 4.5 €2
T FA B AR AW @ oA 3 R
gl der B, @ VG 9@ ¥ G @l
e B -

[1] 10 febHt et ger
[2] 12 Tt ufey et
[3] 13 febHl uifer ger
[4] 15 TebHt uifer ger

10.5 841 Bear & Th Gig Hqen
fogares, 3.5 @4 Brewr qanr 3 &
e A B2 B gige § e R
ST &1 TegER, 39 JHR 99 o B
ge far el ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/901

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138



64.

I P TR AP Fhdfs ST @
MR T 3 Iu H THIE AN

aﬁw%ws‘rw,a‘rwaﬁ
i X & :

[1] 16%%

1
2] 33-%
(2] 333

[3] 33%
[4] 50%
1865 @t & &/, 660 FAsH T
g X 1305 =<1 99 & F,
120 =fRp a9 & | Fs ft A

A @R E, @l e A
et Tl § 7

[1] 220
[2] 440
[3] 120
[4] 1085

44 3

3 >

E

66. TG P HUT T 20% P FH B AW

W & AEH 800 &9 § 12.5 fham
TaT R @48 odl 3, df =@Ed &
gd Hid gf e e B 7

[1] 1259 [2] 14 593
[3] 1559 [4] 16 59

61. [T9ON & TH JANTHA H [OHN,

AR BT 12 A T AR HOS
T Bl AR SEH AVES 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

Level-3/901
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64.

[A]
If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

1] 16%%

1
2] 33-%
(2] 333

[3] 33%
[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?

[1] 220

[2] 440

[3] 120

[4] 1085

A reduction of 20% in the price of rice

enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12 [2] Rs. 14
[3] Rs. 15 [4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736
[3] 2796 [4] 2826



[A]

68. T Uf 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdll d@mm @ 5, 9, 13 ¥ fowha

H U HEM: 2, 6 A 10 A g
T U w99 B e ®

[1] 602 [2] 592

[3] 572 [4] 582

uh FREd f 9 § "PARTICLE"
# "USBQFMDJ" @I "GENERATE"
& "FOFHFUBS" fe/@r e 8, @t g&t
M T 99 ", "DOCUMENT" &I
for@r SR -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFEFN
[4] VDPEUOSF

71. dF 7ol P, Q @M R &1 T % 5 H

T 9RaT 31 79 R,

Level-3/901
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68. Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10
respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" is  written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs
[2] 25 hrs
[3] 30 hrs
[4] 35 hrs



12.

J3-1
V3+1

W3+l
I Y=

(> +y?) &1 A9 ¥ :

aAql y=

[1] 14 2] 12
[3] 13 [4] 16

qefFal @ uh uRe §, A I o |
103 T WX qar B It oiX @ 144
WM W ¥, 3% 3 oo Raferl e
Se ol §, O A 9@ e @ 249
WM ) & I g, ue § asfea @
He e & °

[1] 31

[2] 33

3] 37

[4] 39

14. TF THTEN TF & B 15% @9 |

ST 8, OFR 369 I 18 vy AR
4 S Bdr, A IEE AW 18% @&
Sl 39 a&] 1 %9 9 (B0 H) B ¢
[1] 360
[2] 540
[3] 600
[4] 640

T B SEE 9000 B, AR ISt
P TEEAT e W 5% IR wieanst
N FhE W 8% o T TH Ty A
SHEAT 9600 B, o JeSl &l e
g

[1] 3000

[2] 4000

[3] 5000

[4] 5600

Level-3/901
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12.

[A]
J3+1 \/5—1
If x= and y= , then the
V3-1 NI
value of (x+y?) is :
[1] 14 [2] 12
[3] 13 [4] 16

13. In a row of girls, A 1s 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
[2] 33
[3] 37
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :
[1] 3000
[2] 4000
[3] 5000

[4] 5600



[A]

D,CTaME & @ 8, A, E & atfe
T Rl 8, C, AQ T, D, B A
A T WE T, A TH ¥ BN
qaq T B 7
1] A
[3] C

[2] B
[4] D

11. TF TSH & BEA® H AKX G

T BT X ¥ %l i ‘g8 A & S
% I P B qSH &7, A T
X | g TR d@dg 8 ?

[1] fo 2] «E

[3] =1 [4] T

Teh A 39 Al ermel g4 § uf¥em
F SR ST W@ & T I 9 ST
&R & T I B, A S gIAr fhE
fesm & S ?
[1] So-To
3] To-Yo

=1 g Aoft 1 o UE R

[2] So - Jo
[4] S0 -To

3,13, 22, 32,59, 69, 120, 130, ?
[1] 201 [2] 211
[3] 227 [4] 232

80. 9 iU HEET H AT n B, AL I

A I TS B MEA B R
S, F 9T S b & S ?

[1] @& 99 &
[2] 1% gfa &rl
[3] 1.5 @I gis erft
[4] 2 @t ghs eFf

Level-3/901
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76.

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3] Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W [2] N-E
[3] S-E 4] S-W

79. The next term of the following

number series is :
3,13, 22,32,59, 69, 120, 130, ?

[1] 201 [2] 211
[3] 227 [4] 232

The average of nine consecutive

numbers is n. If the next two

numbers are also included, the new
average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5
[4] increase by 2



8l1.

BRATT & o W ® AR

IR 9 & ded (IR W & &9

¥ arfergfe fear T © ?

[1] YR TSE IaM AR HeEm™
FeNg ARG

2] e TEF SgF SR GuRar™q
FeIg ARG

[3] EX g9eild TR &R &R
TP geila A9IRTg

[4] YR TIOE  AWEARTG IR
TIA-EI-3dM a=Ieild TRy

82. ifhd FeMi W fa=aR T :

() eRAMm §  omgE Hen o @l
T af 2002 F #t T o

(i) =Y W U ERAen U &
T Sliehrger €|

[1] 39 (i) T 2
[2] Baa (ii) T B
[3] () wd (ii) S & 2
[4] ()T (i) AT T 2

83. BRAM & fFE X A & o6 ax

BRI % &9 | S SO B 7
[1] J&IH
PARKIIEK
[3] QT
4] Tt

Level-3/901
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81.

[A]

Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &

Bhindawas Wildlife Sanctuary

Park &
Khaparwas Wildlife Sanctuary

Kalesar National

(2]

[3] Nahar Wildlife Sanctuary & Bir

Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &

Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (i1) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

[4] Bhiwani



[A]

84. M ¥ FHMEGd ©Rel H 9

86.

fre g @i ®Re @ g urd
g7

(i) G TG F TR
(ii) S AR dras

(iii) HrRar AT Bt
@& HE F T HIT
[1] (i) &R (i)

[2] (ii) S (i)

[3] () A (iii)

[4] (i), (i) & (i)

85. AT % oMM &R F ST

glaegrett &1 fae w9 & fog e |
q B-d der FeRR B 7

[1] BRgH

[2] &1

[3] CHUHARAESE!
[4] Rt S &=

Frefefed & @ a9 eRaem &
T % &R gE 78 & 8 ?

[1] REmm &% gegus
[2] GoT9 TG ERIAOT I <AEFed &l
T

[3] eRAOT @ FAT SN @
e

[4] eRATM AFAEER SRR H 95

Level-3/901
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1)) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (1) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

BT F MEfargg eu d 9
I T AABIE o7 ?

[1] FFRT G&T it
[2] STogE ol BTl
[3] 4l &l Hed
[4] o1 TCAR

RN 98 9 AT & AR A

fFfaiad ®ael @l afeg ¢

(i) I8 A9 9RO B T THE D
w1 f Rfd & & iR W
BRAOT % GHE URARl B Th
fasaeg  dEe-ont®  Sered
TR K @ 2

(i) 9% URAR H TH S bl &l
fodeoT URaR UeAM  ofEfved &
S W ? R weEaM (ID) #
S, g9 U Jdied Naied &
SiieT S|

(iii) AR TeaM Se@d ¥ Su@e ST
& SN faT HeoeR FioTrs
EERCRHICR IS BRCTR
MRt & @d deel & [

S A Pl STAFHA 18] Rl
7& FT B AT HIT
[1] Faq (i) & 2
[2] () &R (i) @& &
[3] (i) &N (iii) & |
[4] (i), (i) 3N (iii) @& |
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81.

[A]

Who among the following Governors
of Haryana was a civil servant ?

[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(ii1)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.
[4] (1), (i1) and (1i1) are correct.

P.T.O.



[A]

9.

g % T % §99 H

fr=foiie wuei W foar ST -

() q& eI FHE [eafEE @
FHaAET Bl

(i) 98 T & Fel & TH & 95 @l
gR] HY b ol

(ii)a& shegd T HE  aEEd,
BRATOT TS SR B 3T B

(iv)32 Giea & A= B
wiaaag afd < &

S | DE-AU/A I 78 ofs ?

[1] @), (i), (iii) R (iv)

[2] (i), (iii) 3T (iv)

[3] ®aa (iii)

[4] (i) R (iii) ST

gaem ¥ @ 99 oY TSy 9@ &
g 2 :

[1] 73R 4

[2] 103X 4

[3] 103X 5

[4] 123X 5

[22]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red
Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary  power  granted

under the Constitution.

Which of the above statement(s)
is/are correct ?

[1] (1), (i1), (ii1) and (iv)
[2] (i1), (ii1) and (iv)

[3] Only (ii1)

[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/901



[A]

[T - IV (PART - IV)
TSI (POLITICAL SCIENCE)
3T : R g7 % a7 &7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

G & U &l a9 geed
T HIF B ffed HiTT

[1] Usufd &l W©Ed © Rad = &
a@ A U a¥ $ B B

[2] Tgf QAfares & 9 B

[3] USUfd daq dfedM & SoEd &
MY W HEREN & gl S
T B

[4] TSEUT O WER ded od &
U Hl GEIed BT 9% @R
HT G &

92. THME J&i&F 'The Unipolar World —

An Unbalanced Future' fhd® I
fordt T ?

[1] Gto TS A
[2] dio THo Jid 3N Elo To Tl
[3] i diaw

[4] wRE GHEAAM SR THo o
s

Level-3/901

9l1.

Identify the incorrect statement
about term of office of the President

of India ?

[1] The President term of office is
five years from the date on

which vacancy occurs.

[2] The President is eligible for re-

election.

[3] The President may be impeached
only for wviolation of the

constitution.

[4] The President may resign in
writing under his hand addressed

to the Vice President of India.

92. The famous book 'The Unipolar

World — An Unbalanced Future' has

been written by :

[1] C. Raja Mohan

[2] T. S. Mowle and D. H. Sacko
[3] Colin Powell

[4] Francis Fukuyama and S. P.

Huntington



[Mi i iv
2] i iv i i
3] i i iv
[4] i iv i
e < b PRI & GERA & fo
IR & fhd TFEE S THo 8TRo s
GiEfy e TR o ?

11

[1] SR AW 6@
[2] & SEIgT e
[3] g e

[4] Yo dlo TR @

95. YR & FI9 AV sid Aaenie

Y " S ger ¢
[1] Fa=, 2002
[2] feE=R, 2002
[3] S+ad, 2003
[4] ®Ed, 2004

Level-3/901

93.

94.

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-II
A. K. C. Wheare 1. India is a case sui
generis

B. Alexandrowicz ii. System of
Government which

1s quasi-federal

C. Appleby iii. Federation  with
strong centralising
tendencies

D. Jennings iv. Indian system is
extremely federal

Codes :

A B C D
[1] 1 11 v 111
[2] 111 1v 11 1
[B] 1 1 v 111
[4] 1 1v 1 111

Which Prime Minister of India
formed the N. R. Pillai Committee to
improve the functioning of foreign
policy ?

[1] Jawahar Lal Nehru

[2] Lal Bahadur Shastri

[3] Indira Gandhi

[4] P. V. Narasimha Rao

95. India's First Nuclear doctrine was

officially released in :
[1] November, 2002
[2] December, 2002
[3] January, 2003
[4] February, 2004



gEl-1 -11
(Tr=a) (wee e
A. 3 TR i. 75 (63 +12)
B. f@R ii. 40 (34 + 6)
C. TN iii. 58 (50 + 8)
D. T iv. 78 (66 + 12)
&c -
A B C D
[1] i i iv o ii
[2] iii i iv i
3] iv i i i
[4)i i i v

97. -1 % gE-Il 9 fam #if
%ﬁa‘f%gﬁqw%ﬁﬁ
S H AT HIOT

E-I E-11
A 13d 9 e i waimEn
RIECE]

B. l4af W R il &
IERE]

C. 158 -™ R iii. g
RIECE]

D. l6af 9 R iv. H
RIECE]

%c -

A B C D
[1] iv 11 1l

o e

2] 1 1v 1 1
[3] 1 i - iv
[4] 1 1 - iv

Level-3/901
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6.

[A]
Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-1 List-1I
(States) (Members
Legislative
Council)

A. Andhra Pradesh
B. Bihar

C. Maharashtra
D. Telangana

i. 7563+ 12)
ii. 40 (34 + 6)
iii. 58 (50 + 8)
iv. 78 (66 + 12)

Codes :

A B C D
[1] i i iv il
[2] i i iv i
[3] iv i i i
[4] i i i iv

97. Match List-I with List-II and select

the correct answer by using the
codes given below the lists :

List-I List-II

A. 13th NAM i. Malaysia
Summit

B. 14th NAM ii. Cuba
Summit

C. 15th NAM iii. Egypt
Summit

D. 16th NAM 1iv. Iran
Summit

Codes :

A B C D
[1] iv 11 11

o e

2] w1 1v 1 1
[3] 1 i i 1iv
[4] 1 1 - 1v



[A]

98. =1 # @ H-91 9 Ta & ¢

[1] 9@ & 3R 3@ i e @
[2] USRS I : SEo Ho oI
[3] Sieen &R @ To o amiaEl

[4] fags T YT : Teia

frefafag & @ @9-91 Tag €9
fodee @ Aoft § 78 o ?

[1] Feell & &1 STRRUY, SR,
URER, IRaeH I fafems

[2] dac o ¥ Hefd fadgs o)k &t
FPBE 110 § dee el A
q el T &

3] @@R B €9 SUR N @
ERREE

[4]) 9Rq & G MY F ¥ & @
faferaeT

qRd @ faewr -ifa FEier gk & s
ﬁﬁgﬁ@aﬁ%%—%ﬁaﬁaaﬁm
7 7 ?

[1] 9% & @9 T e} faoer Amat
G P I i e

[2] T ERT faesT Al W9y

[3] fR Qo & oTUET  GRIETE
foera

[4] TRy Ay 99 B TR
T T
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98.

Which of the following pair is
incorrect 7

[1] Look East Policy : Narasimha
Rao

[2] Neighbours First Policy : I. K.
Gujaral

[3] Nuclear Doctrine : A. B.
Vajpayee

[4] Genuine Non-alignment : Rajeev
Gandhi

99. Which of the following provision

100.

does not belong to the category of
Money Bill ?

[1] Imposition, abolition, remission,
alteration or regulation of any tax

A bill merely involving
expenditure and does not cover
any matter mentioned in Art. 110

(2]

[3]

Regulation of the borrowing of
money by the Government
[4]

Appropriation of moneys out of
the consolidated fund of India

Which of the following is not a valid
criticism of the foreign policy
formulation process in India ?

[1] India has always lacked a
professional Minister of External
Affairs

[2] Domination of foreign affairs by
Prime Ministers

[3] Inadequate institutional
development of foreign services

[4] Excessive confidentiality of

foreign policy matters



101.

[
(]

[
'y

fPH STIR WX UF Haaldl & 37y
foper T Gk B 7

(A) Al

(B) 39y

(C) ¥ T 31qY SR

(D) et forpfar

[iﬁr%aaAaﬂTB
[2] Bad A 3R C
[3] Bad B3R D
[4] A, B,C3IR D

g T AR 7 9 e
Y T2 AR o Faeq @
JEE qiRd {7

[1] =, 1974

[2] |8, 1975

[3] |8, 1976

[4] |8, 1977

Frleiag 4 § fpe o= <meE @t
<de & ' ?

[1] T8 3= Y

[2] TN I T

[3] jN(ICI 3 Y[Y[dd

[4] elpdl S A

1942 ¥ fp fsM a8} Ru T

yeE 8 9 B F 8 fe-ara &

g B2 ?

(A) 9T & €i9aW T et wiaes
L A RO 1 5

(B) ®ieqM & ARG H T @A
T e

|
(C) &+t it AR 3 R & g
T WA |9 S99 @ieq)

?ﬁ%ﬂﬁAﬂ'&%

[2] Bad A IR B @&l
[3] 3 A MR C T &
[4] Bad B R C q& &

Level-3/901

[27]

101.

=
N

=
w

104.

[A]

On which ground/s a voter may be
disqualified ?

(A) Non-residence

(B) Crime

(C) Corrupt or illegal practice
(D) Unsoundness of mind
Codes :

[1] Only A and B

[2] Only A and C

[3] Only B and D

[4] A, B,Cand D

When did the UN General Assembly
officially pass a resolution for the
establishment of New International
Economic Order ?

[1] May, 1974

[2] May, 1975

[3] May, 1976

[4] May, 1977

Which of the following High Courts
do not have a Bench ?

[1] Bombay High Court

[2] Rajasthan High Court

[3] Gujarat High Court

[4] Calcutta High Court

Which of the following statement/s

is/are correct about the proposals

offered by the Cripps Mission in 19427

(A) The Constitution of India was to
be framed by an elected
Constitutent Assembly.

(B) The Constitution should give
complete independence to India.

(C) There should be one Indian
Union comprising all the
provinces and princely States.

Codes :

[1] Only A is correct

[2] Only A and B are correct

[3] Only A and C are correct

[4] Only B and C are correct

P.T.O.



b

[

[

frr & @ 39 o & degel |
QU FEge?

[1] TRisE THE
2] gFen

[3] & @A
[4] TeH Hicen

(s s ok s I R e 1 ot G P
W URYE #H e e % g
e # den & 15 uaed § AR
& & g B ?

[1] 89a1 Gfaer denew sAfafem
[2] 90&T Gfaem deee A
[3] 91&T Gfaem deee sAffem

[4] 9241 Gfqem denee sAffem

17711511 S 1 o M e A
TEH B oY 21 9¥ & g 18 ad
Y T ?

[1] 60aT Esier
[2] 61T Esher
[3] 62d1 Hales
[4] 63aT Taie
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105.

=
[=2]

Who among the following was not
one of the founders of ASEAN ?

[1] Narciso Ramos
[2] Sukarno
[3] Thanat Khoman

[4] Adam Malik

By which of the
Constitutional Amendment Act, the
size of the Council of Ministers shall
not exceed 15 percent of the total

following

number of the members of the House
of People ?

[1] 89th Constitutional Amendment
Act

[2] 90th Constitutional Amendment
Act

[3] 91st Constitutional Amendment
Act

[4] 92nd Constitutional Amendment
Act

By which Constitutional Amendment
Act voting age was reduced from
21 years to 18 years ?

[1] 60th Amendment
[2] 61st Amendment
[3] 62nd Amendment

[4] 63rd Amendment



[29] [A]

108. fy=foiad & & @-91 9 T S ? 108. Which of the following pairs is
(W) (ﬁ'@zﬁ) incorrect !
zﬁnﬁﬁ—qu- . IR (Book) (Author)
1] 3&3—5” ¥ sﬁﬁﬁl’&r{ ];lg [1] Communalism : Asghar Ali
= ! in India Engineer, Moin
? Shakir

[2] Zb‘l?ﬁﬁﬁﬂ[ T : Fo Tdo TEehy [2] Communalism :K. N. Panikkar
zfveyr « e, in  India
SlIRIEE History,

e e Politics and
Culture

[3] Zb‘l?ﬁﬁﬁﬂ[ T : I e [3] Communalism :Rajni Kothari
gj%g-q:r in Indian
Uifeifesr Politics

[4] Communalism :Mujibur Rehman

[4] Eb‘Qﬁﬁﬁﬁ[ 3 : g ©HH in Modern

qte+t 3'&?{5” India
109. = ¥ ¥ H9-9/8 BT GE B 7 109. Which of the following statement/s
de R W o F @ FE S W is/are correct ? Select the correct

T HIT answer from the codes given below :

(A) MG R & T Yoo (A) The Universal Declaration of
B 10 RE=R, 1948 & Eﬁ% Human Rights was accepted on
feba T am December 10, 1948.

(B) 16 R&=x, 1968 @& o1, (B) On December 16, 1968 the
e K qicpias ARBER H International ~ Covenant  on
U wEfdEr (ICESCR), Economic, Social & Cultural
TRE AR Torifoed  AER H@ Rights (ICESCR), ICCPR and
AU WEEr (ICCPR) @R optional protocol were accepted.
depfeass i Wigd fhu Uy

(C) AFRE AR e Stferert (C) The International Covenant on
ST yEfaer (ICCPR) & Civil & Political Rights (ICCPR)
dpieqs AT 28 9, 1976 @ and the optional protocol came
T gU into effect on March 28, 1976.

e : Codes :

[1] 3o (A) T8 B [1] Only (A) is correct

[2] Fa@ (A) R (B) &I & [2] Only (A) and (B) are correct

[3] @ad (B) X (C) T& & [3] Only (B) and (C) are correct

[4] (A), (B) 3X (C) &&I & [4] (A), (B) and (C) are correct

Level-3/901 P.T.O.



[A] [30]

110. fy=ifafeg & & S9-a1 a9 TaT s ?

[1] IgReE & e 3 st
ST T Bl

[2] SR J& T & 6 d@fEE &
TR N EId H 2

[3] SR %@ il & f6 dfREE
R Sgasdt &1 W AT el B

[4] SERET ARG B SYEET
TREY ST 3

111. S99 <E@EE & A &
weiltEeT | ddtE e o§ § de-a
HIT AT © 7
[1] I & &9 & & 100 ;o

T & HH § HH S50 Tl
SN UAld @l T T S|
T A H R S B

[2] 30 W@ ® AN qN Gedl
P aEfa g)r e S B (3

A SEAH g & A e
% S fafe B 2)l

[3] T S Toh Hal bl A Hal
e % SgAd 8N ol IR AR
T S Al qE’il % HH 9 HH a-
frerR sgAd g1 aRd &Y i S
& O T B FHEET TR
ST 2

[4] Ol 99 THOET WX SRS YA
g ey ser o smm

Level-3/901

110.

Which of the following statements is
incorrect 7

[1] The Preamble of India 1is
enforceable in a Court of Law.

[2] The Preamble indicates the
source from which the
Constitution derives its authority.

[3] The Preamble states the objects
which Constitution seeks to promote.

[4] The Preamble constitutes India
into a sovereign socialist secular
democratic republic.

Which of the following statement is
incorrect about impeachment of a
Judge of the Supreme Court ?

[1] A motion addressed to the
President signed by at least 100
members of the Lok Sabha or 50
members of the Rajya Sabha is
delivered to the Chief Justice of
India.

[2] The motion is to be investigated
by a Committee of three members
(2 Judges of the Supreme Court
and a distinguished Jurist).

[3] If the motion is passed in each
House by a majority of that
House and not less than 2/3rd of
those present and voting the
address is presented to the
President.

[4] The Judge will be removed after
the President gives order for
removal on the said address.



112. FHofeg & @ 991 ™9 =
TN H FE & B ?

[1] Gardi & forig Rafa @ @ien
B
[2] GoEE & HeRdl STfeM & fO¢
T®IRST &
[3] demedi @ a%g U6 dar W B RE
Pl RIBIeT B
[4] Foral & fafe & & 99 #X
AT & faaeer &t famiRer e

113. Fr=fafad & § &H-91 9 To7 © ?

[1]

(2]

[3]

[4]

Level-3/901

() (wat=
T |
frreffa)
T O9EA T§ 16 F9WR,
Y W ARG 1992
oy
P AT 24 CRCH
H A W™ 1973
Td 3T
THo HARo A : 1196, 1994
M 9Rd 99
AT T S H ;25 A,
AR 9 1976

112.

[A]

Which of the following is not a

function of the State Finance

Commission ?
[1] To review the financial position

of the Panchayats

[2] To make recommendation regarding

grant-in-aid to the Panchayats
[3] Recommend the share of GST to

the Panchayats

[4] Recommend how allocation of tax

proceeds would be made among

various levels of the Panchayat

Which of the following pairs is

incorrect ?

[1]

2]

[3]

[4]

(Case)

Indra Sahney & :

Vs.
Union of India

others

Keshavanand
Bharti Vs. State
of Kerala &
Others

S. R. Bommai :

Vs.
India

Union of

Maneka Gandhi :

Vs.
India

Union of

(Decided in
Supreme
Court)

16th

November,
1992

: 24th  April,

1973

11th March,
1994

25th January,
1976



b

el
[

e, 1993 § &9 & USUd 9N
I B ARG I B O OH 8/
HIF-81 Feaqel IRV 787 1 ?

[1] aRG & AFF &g A H
SSETE

[2] TRVEST faFTE W gEE W
U

[3] NG The 39 o & amal

[4] U SARERT FER 9 TR &
Fhe & [T &9 #1969

AW 51 & AR = F 9
PIF-TT AR P TS AT 7&7 2 ?

[1] SRS i AR geen &
gl

[2] ST faamal @ Hewyar &N
Faem &1 e

[3] T & e AEET X FHA
e Bl S

[4] Feedider R e e @
SIRE(E

T B GRS HH & G AT IR

gl ¥ wRadw am & fe, d@99

e & AMey

[1] |EReT Sgad

2] J-frers g

[3] G ol &l HeHid

[4] SURIT AR AGEH HA al aaed
1 A-frer g

Level-3/901

[32]

114.

Which of the following was not an
important
President Boris

outcome of Russian
Yeltsin's visit to

India in January, 1993 ?

[1] Assurance to provide military
spare parts to India

[2] Issue of Rupee-Ruble exchange
rate resolved

[3] Delivery of Cryogenic Rocket
engines promised

[4] Russia to put pressure on
Pakistan to withdraw from POK

Which of the following is not an
international obligation of India
according to Article 51 ?

[1]

Promote international peace and

security

[2] Incourage settlement of
international disputes by
arbitration

[3]

Maintain just and honourable
relations between nations

[4] Promote disarmament and arms
control

To reorganize the states or to alter
their the
Parliament requires :

boundaries, Union

[1] A simple majority
[2] Two-third majority
[3] Consent of the concerned states

[4] Two-thirds majority of those
present and voting



1z, #@gM % Freffed @ &8

TEgM & GMEd b [T ®H ° A
Y T B QYN HUESA &N
SRS & SAELTHAT Bl & 7

(A) Ui & fates @ A

(B) 3TJe8% 368 & WEUM
(C) H8& § T4l i S

(D) Fare IR I

&< -

[1] ®a@ A IR B
[2] ®ad A 3R D
[3] ¥a@ B3R D
[4] A, B,C3@RX D

% 3 e frR w@ew § aRm
uREE @ FY (SADF) & @
e ®I¥ (SDF) & &9 & gifed
fpar T e ?

[1] 10aT |@6 REX T, 2002

[2] 11T 9@ RER g8, 2003

[3] 121 @@ @R g9, 2004

[4] 1397 9@ RrER @¥e, 2005

Level-3/901

[33]

117.

[A]

Which of the following provisions of
the Constitution require ratification
by not less than one-half of State

Legislatures for amendment ?

(A) Manner

President

(B) Provisions of Article 368

of election of the

(C) Representation of States in

Parliament

(D) The Supreme Court and High
Courts

Codes :

[1] Only A and B
[2] Only A and D
[3] Only B and D
[4] A, B,Cand D

In which Summit meeting of the
SAARC, South Asian Development
Fund (SADF) was reconstituted in
the form of SAARC Development
Fund (SDF) ?

[1] 10th SAARC Summit
Conference, 2002

[2] 11th SAARC Summit
Conference, 2003

[3] 12th SAARC Summit
Conference, 2004

[4] 13th SAARC Summit

Conference, 2005



[A] [34]

119. ToUEHl & od 9 HEfd Tod BT
@l Tafeed HifoTT :

[1] T 8§ 250 | o1 gee =1et
Rl

2] 12 ¥ USU 3 JEEkes
21

[3] 99 238 e 9 AR §° T
N % ufafwier 2

[4] STHFERR Hew T o F | A
S R afed,  STeEsT,
fosTe, ®em X g9 J41 B GEY

4 Y 99 A ARG ST
B

120. JA-HEE FHA H, ANGE a9 |ifd &
& SR ® aR F FE-A B
TATR ?

[1] 9T % 9 i & @R

2] BT R 3 ©RE & 9
fEueie |t @ AcdeT

[3] TSl 3 § 99 & T9E @ QiR
HET

[4] 9RO-U% THESl & 99N &
fou omARen AeTRIar STHBT B

Level-3/901

119. Identify the incorrect statement

about the composition of the Council
of States :

[1] The Council of states shall be
composed of not more than 250

members.

[2] 12 of the members shall be

nominated by the President.

[3] The remainder of 238 members
shall be representatives of the

states and the Union territories.

[4] Nominated members shall be
chosen from amongst persons
having ‘'special knowledge or
practical experience in literature
theatre, science, art and social

service.'

In the post-Nehru era, which

statement 1is incorrect about the

regional objectives of Indian foreign

policy ?

[1] Expansion of India's military
power

[2] Promote bilateral ties with South
Asian neighbours

[3] Minimize Chinese influence in
neighbouring states

[4] Seek US mediation to resolve

Indo-Pak problems



[

[

Frfaiaa ®§ 9 ffaq ®a1 ‘TS &
e eeR & Oera § ofe
aifeard AR o1 smuifee 87 °

[1] Sto THo fia

[2] §iE W

[3] R

[4] ¥ T

Freifataa & @ S-d1 999 T &
1) e o STfed A & 7

[1] I8 HHF 3 fosrT & S R

[2] T8 fasg S9a ol TR T B
[3] T& WRl wWeEl & FRgUE @
il B

[4] TR TART TRl &} STawars
& AeAfed H & g fear ST B

g;ﬁﬁ@?r 7 ¥ IN-TA FE Fa

£ 7

(A) Tg-FRUERT  GigeM bl AR
fasryaT B

(B) 9o-FRUsT & AR e
IRaT & deels oiX el &=t
% % &N TR SR B

C) T TI-FUy ™ § TF &
I ST R JNE T B T
g P WP A g 2

?_c'"

[1] Bad A 31X B @&l
[2] Bad B X C 981 &
[3] 3 A X C T &
[4] A,BaiRCHE &

Level-3/901
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[A]

121. Who among the following said, "The

e

theory of nationality is more absurd
and more criminal than the theory of
socialism" ?

[1] J.S. Mill

[2] Bernard Joseph

[3] Zimmern

[4] Lord Acton

Which of the following is an invalid

criticism of the Veto system in the

United Nations ?

[1] It is a violation of the principle
of equality.

[2] Itignores global opinion.

[3] It symbolises autocracy of
permanent members.

[4] It is used by great powers to
promote terrorism.

Which of the following statement/s

is/are correct ?

(A) Secularism is a basic feature of
the Constitution.

(B) Secularism is promised upon the
separation of the public and
private spheres of individual and
collective existence.

(C) In a secular society, the state
requires the sanction of religion
to legitimize its power.

Codes :

[1] Only A and B are correct

[2] Only B and C are correct

[3] Only A and C are correct

[4] A, B and C are correct



AT wIE B Ried HINT ¢

[1] SE &9l & gt GRem &
FeiRd & & &0 § wga
S R

[2] 9RGE TF F qEE OET @
EUI RGBS KRt I )
6 B A I o

[3] 9Rd § S afbgar 39 Al @l
e & ogET & M 9Ra &
Gl S9 R

[4] TG AMQ ToFiEE &ol, ST
A AR FEEAT B WET HEH
F B

P § & PR g A ¥ 7

Ay 89 @ & B RET
ELIE L] [+
SaquHe 39 s

(B) o1gd dleel © R ®We ds dad
5 g
(C) 3™ Po T : SAAUHE U9 HhieH

[1] Fad (C) @&l ®

[2] @& (B) R (C) @@l &
[3] 3ad (A) AR (B) T& B
[4] (A), (B) 3R (C) && &

Level-3/901
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124. Identify the incorrect statement :

[1] Caste communities are presented
as determining electoral outcomes.
[2] Castes work as pressure groups

influencing the  governance

agenda of the Indian State.
[3] Caste activism in India is as per
the vision of those who framed

the Constitution of India.

Caste considerations structure

[4]

political parties, their leaderships

and programmes.

Which of the following pairs are
correct ?
(A) Pranab Bardhan : The

Economy  of

Political

Development
in India
(B) Atul Kohli : The State and
Poverty in
India
(C) Amartya K. Sen : Development
as Freedom
[1] Only (C) is correct
[2] Only (B) and (C) are correct
[3] Only (A) and (B) are correct

[4] (A), (B) and (C) are correct



126. fHfRed & & -1 B9 Toad & 7

[1] GO fofy a0 feelt ™9 & &
TP ToTET O Bl YAl A
T Af® T4 B A T B AN
% Rt otar el 9 89 H
el T % AN ® Y HAm
T T AT H T

[2] dos [y & R T @1 &
e fksEall

[3] dos Ry & fF T @1 &
geT gl

[4] 98 fafy g0 ARa & Gfaas &
G GeE § aRads & g

IRl & Jufe e & IR #

frafofag & & aF-a1/8 F9 &

& 2R

(A) TR e &

(B) 3R oY & g sHIY 97 2

(C) @R At § Sidffed 2

(D) R FBEA 2

??’.

[1] Bad (A) T 8

[2] B (A) &R (B) Td 8
[3] B (A) &R (C) a2
[4] (A), (C) 3T (D) Tod 2

Frafafed & @ @91 A &
HIT & T H JTT B 7
[1] Qe 5d Geiell e T ol

PARSIEE B REIIETR i IR BT £
g« 2l

[3] WMec AET W S &1 & 7 Bl T
T

[4] ke QR &l Tolch SgSel &l
R &t #X ar B

Level-3/901
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126.

[A]
Which of the following statement is
incorrect

[1] Parliament may by law form a
new state by separation of
territory from any state or by
uniting two or more states or
parts of states or by uniting any
territory to a part of any State.

[2] Parliament may by law increase
the area of any State.

[3] Parliament may by law diminish
the area of any State.

[4] Parliament may by law alter the
federal structure of Constitution
of India.

Which of the following statement/s
about the Legal theory of Rights
is/are incorrect ?

(A) Rights are absolute.

(B) Rights are created by the state.
(C) Rights are inherent in men.

(D) Rights are artificial.

Codes :

[1] Only (A) is incorrect

[2] Only (A) and (B) are incorrect
[3] Only (A) and (C) are incorrect
[4] (A), (C) and (D) are incorrect

Which of the following is an

incorrect demerit of democracy ?

[1] Democracy is a very expensive
form of government.

[2] Democracy is slow and sluggish
in its movement.

[3] Democracy puts emphasis on
quantity and not quality.

[4] Democracy fails to develop
political intelligence of the people.

P.T.O.



[A]

129. IRERF (A) : 9RO dfqe Fotanett

H TH THERGE  T™

H H® Eed

HAEEd: IRT W T8

qEfee ek & Wi

Teh AR &l

ARAT Gfqa Fwiared

9 M ArRe  gfedr

B T F AT MeH

aal ¥ &I

[1] A @R R &G &9 § a9 T&
g AN R, A 3 T2 & B

[2] A @R R &G &9 § a9 T&
g AT R, A 3 T2 e e
Bl

[3] A @& ® AfPT R 2

[4] RE& B qfhT A T 2

AEFET (A) @ IR H TN A=

3 T B

HROT (R) : & AU HAT Bl

FA B R % R A

% Bl TR B &

[1] A 3R R T &9 § T8 2
3R R, A %t 3fed & 2

[2] A 3R R T &9 § T8l 2
AfET R, A %t 3fad & w98 2

[3] A& 8 W R 2

[4] AT 8 W RE& B

Pt & | &9 ‘ol qeds g
P ACH & 7

[1] T A

[2] e ud fefgd Qe

[3] {&e sred

[4] TEa8 T

SROT (R) :

Level-3/901

[38]

129.

130.

131.

Assertion (A) : The desire of the
makers of the
constitution to create a
secular state was also
essentially a response
to India's plural social
order.

The framers of the

Indian Constitution

placed the Uniform

Civil Code in the

directive principles

of State Policy.

[1] Both A and R are individually
true and R is the correct
explanation of A.

[2] Both A and R are individually
true but R is not the correct
explanation of A.

[3] A is true but R is false.

[4] A is false but R is true.

Assertion (A) : Aristotle's method is

scientific and realistic.

Reason (R) : Aristotle projects his

imagination into the future and

portrays the picture of an ideal state.

[1] Both A and R are individually
true and R is the correct
explanation of A.

[2] Both A and R are individually
true but R is not the correct
explanation of A.

[3] A is true but R is false.

[4] A is false but R is true.

Who among the following is/are
the author/authors of 'Industrial
Democracy' book ?

[1] Karl Marx

[2] Sidney and Beatrice Webb
[3] Robert Dahl

[4] Edward Tufte

Reason (R) :



2. P ¥ &

[

[

T 9E 11 915 981 & 8 ?
[1] 1964 [2] 1965
[3] 1966 [4] 1967

g ®§ 9 ‘feafe Toisamgeis™’
(2005) & TEH B & 7

[1] ey sSifsies

[2] &0 FRRieR

[3] = Aswed

[4] 3T &=

frr § 9 99 89 iR S
T & 9R F IA-°1 I Toad
[1] dFmiAes © g
[2] 9@ : olfeefern
[3] @mer $681 ¢ SlfceEH
[4] AR EL|

35. f=fafad & ¥ @9-a/8 F99 TH

3 THNT & HEY P W HQ & 7

T
(A) TG (oo &9 §  €iied
A 2

(B) T7g AR 999 &Ml & 99 @
JuTN TERT HX THha 2

(C) @991 X 9 & TOF s
IR 2

&c -

[1] %ad

[2] A3R B

[3] BaR C

[4] AR C

Level-3/901

TR g gor uw @

e

ot

ot

[A]

In which year membership of the UN
security council was raised from 11
to 157

[1] 1964 [2] 1965
[3] 1966 [4] 1967

Who among the following is the
author of 'Debating Globalization'
(2005) ?

[1] Zbiegnew Brzezinski
[2] Henry Kissinger

[3] Richard Rosecrance
[4] David Held

Which of the following pair about
trust territory and its administering
state is incorrect ?

[1] Tanganyika :  France
[2] Nauru . Australia
[3] Rwanda Urundi : Belgium
[4] Somaliland . Italy

Which of the following statement/s
explain the relationship between the
State and Society ?

Statements :
(A) State is politically organized
society.

(B) Both State and Society can
legitimately use force.

(C) Society and State have the same
moral purpose.

Codes :

[1] Only A
[2] Aand B
[3] Band C
[4] A and C



=

bt

[
w

frefafaa & @ H9-@ sftFms o

% fayar 787 2 ?

[1] SR ARt @ S SRR 3T &l

[2] RHGS T &, TF Al SR
T HEET H fagar I B

[3] @R & & oM @ o 2§ 6 3
S QO ST T

[4] 9 TEE TR AR ke w@
o &Y B

Fr=1 4 & 991 39 T07 & ?

[1] €gF T St e ded
: foge

[2] SFAUSE 9 @6 : ded
[3] fasa =% §9 : s
[4] fasg A9 e @ : Sear

Frfefead & | ®F-1 39 Taa s ¢

[1] “afR T Uferias  aiRRefmEr
T B St AMg oifa A e
anfew oraeem # o off o R
I8 @ I 1”7 — e

[2] “HAfe @i ST foied B
B ST T AR TR W
aTferp 19X Tt 3177 — A

[3] “ofepR  qmfeE e @ 9
oRftafr € s o o
AHAR W HE AN AR AR
e ofesl ofqel H TE UEH
Febelll” — arEh!

[4] “aAferepre id-Rarsit &1 e gan
€& 317 — b
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136. Which of the following is not a

el

el

characteristic of a dictatorship ?

[1] People are given their rights by
the Constitution.

[2] Dictatorship believes in one
party, one leader and one
programme.

[3] People are expected to have
complete faith in their leader.

[4] The leader represents national
unity and prestige.

Which of the following pair is
incorrect ?

[1] United Nations Industrial
Development Organization :
Vienna

[2] International Labour Organization
: London

[3] Universal Postal Union : Berne

[4] World Meterological Organization
: Geneva

Which of the following pairs is
incorrect 7

[1] "Rights are not  historic
conditions possessed by man in
the childhood of the race, but
since lost." — Laski

[2] "The maintenance of right is
much more a question of habit
and tradition than of the
formality of written enactment."
— Laski

[3] "Rights, infact, are those
conditions of social life without
which no man can seek, In
general, to be himself at his
best." — Laski

[4] "Rights are the crystallization of
customs." — Laski



[41] [A]

139. Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

139. Tl & FEI | B i o)
greEt & e R T e § 9 @
I H T BN

ﬂiﬁ-l @-II List-1 . List-I1
TS A. Atlantic 21 August -7
A. i 21 GFTng_ALZ Charter October, 1944
3 SN B. Yalta . 25 April — 26
B. I . 25 \?ﬂﬁﬁ—% June, 1945
I, 1945 C. Dumbarton iii. 14 August,
C. S99 3fed iii. 14 37, 1941 Oaks 1941
D. 99 HREH  iv. 4-11 BEX, D. San iv. 4-11 February,
1945 Francisco 1945
Codes :
& A B C D A B C D
(1] iv i i iii [1] iv i 1 iii
Rl iv i i 21i  ivo i i
Blii i v i Bliii i v
[4] 111 1V 1 ii [4] 11 iv i ii

140. MHfREg H 4@ SHIF-a1 Rkl K 140. Which of the following pairs is not
gufed 78 8 7 correctly matched ?

[1] o THo &R & IgHN, [1] According to S. S. Iyenger,

bicameralism in democracy is an
EI5 ?ﬁ we A WW il '‘outworn creed’ and second
chambers are retained 'to provide
scope for the ambitions of

artymen who ma not be
T fret party My
accommodated in the first.

2] According to Abbe Sieyes : 'If a
Ted W ¥ ofFeNd AT & A 98 2] g ey
second chamber dissents from the
first, it is mischievous; if it agrees

& T8 @ S with it, it is superflous'.

3] B&R 3 AR Ff A T [3] According to Finer : 'If the two
e Ay ¥ oar EFIT‘VT H W assemblies agree, so much the
IR Rl W =R RseE O] better for our belief in the wisdom
f YR B ST 8; AT F STRHd B and justice of the law; if they
T a At B o gfteeer W Y & disagree, it is time for the people to
™ & 7 S99} e B reconsider their attitude'.

[4] S BeleE B AR TET [4] According to Benjamin Franklin :

,a@agﬁmwamafrf;r

‘almost any second chamber is

better than none'.

Level-3/901 P.T.O.



[

b

1

141, "= 7 @ $9-91 FH To7 © ¢

12 T 7 R

(dem) (e )
[1] =13t 1978
[2] ST 1984
[3] ®BIH oFfE T 1980
[4] Qa1 1976
11 ¥ e ke &k

el & A Ru T oRe § 4 ga
SR B T BT -

Q-1 -1
A. TEde I i. IAETE
B. aferd Yo ii. o
C. FaFmT oTeiee i,
D. vl TR iv. "R
&< -

A B C D
(1] iii i iv i
2] i iv i il
3] iii iv i i
[4] iv i i il

Y T % =] G HeRd e § |
HIFT-H FIRE B JH AT © !

[1] 8T 3 : qd qedll & aR ¥
[2] TIERT 4 : Y TR P TN
[3] T 5 : HEEAl | @
TR q e

[4] FTT 6 :

Level-3/901

[42]

141. Which of the following pair is incorrect !

142.

(Institution) (Foundation Year)
[1] Manushi 1978
[2] Jagori 1984
[3] Forum 1980
Against Rape
[4] SEWA 1976

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-11
A. Silent Valley 1. Uttarakhand
B. Dalit Panthers 1i. Gujarat
C. Nawnirman  iii. Kerala
Andolan
D. Chipko iv. Maharashtra
Andolan
Codes :
A B C D
[1] i1 i v i
2] i v i iii
[3] i iv il i
[4] iv il i il

Which of the following pairs about
articles of the UN Charter is wrong ?
[1] Article 3 : About original

members
[2] Article 4 : Eligibilities of new
members
[3] Article 5 : Resigning from
membership

: Termination of
membership

[4] Article 6



144. HIFR T A (1945) & gAEHwET
X g9 @ gefg = @ aF-
qr FH T 8 ?

[1] g T¢ & 99O § A
18 & o™ 108 &R 109
gAEHIET X deiEe e 8
Hefa B

2] §gF T Ao § BE R
Helle T & ST § S g
IRy & @l @Rl dee ol A
fer "3/ T W T
T

[3] Aere @& gAEEen & e gy
T H AYRT GHH G B al-
fe weedl X gon wRwe @
10 &= & @wed @ oo
fpam ST wa R

[4] &FR UHl &eH 9E@d & 109
qites AT q e & g
ST & @ fhY I8 weraw & agAd
W AR g WRee & 9|
el & G99 ST e S
T 2

Level-3/901

[43]

[A]

144. Which of the following statements

about review and amendment of the

UN Charter (1945) is incorrect ?

[1]

(2]

[3]

[4]

Art. 108 and 109 of Chapter 18
of the UN Charter deal with
review and amendment

provisions.

Any amendment in the UN
Charter can become effective
only when all permanent
members of the security council
and two-third UN members

support it.

A general conference of the UN
to review the Charter can be held
only with the support of two-
third members and 10 members

of the security council.

If such a conference is not
organized before 10th annual
conference of the General
Assembly than it can be
organized with the support of
majority of Assembly members

and 7 security council members.

P.T.O.



[A]

145.

-1 ® G-I | e A o)

el & A U T e ¥ gel S
H T HINTT

Q-1
(freme)

A. Sflo

qRA

QE-11
(et @i afvam)

i a g @ wea e

B. Jo 3Ro ii. o Rae o & B
g

g% T 52T M

C. ¥1e b iii. 91 8 W faQwor

D. &

% -

A
[1] 1
[2] 11
[3] i1
[4] 111
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v

1l

v

Bl =1feT
iv. T A &
RIS A |
Rreld, W & 3B
el

C D

i v

i i

i v

i

[44]

145. Match List-I with List-II and select

the correct answer by using the

codes given below the lists :

A. G. Sartori

B. J. R. Lucas

C. Bernard

List-I
(Thinker)

Crick

D. Cranston

Codes :

[1] 1
[2] 11
[3] i1
[4] i1l

il
v
iii

v

1il.

1v.

i. High

List-1I
(Definition of

Democracy)

She is
everybody's
mistress.

flown
name for
something
which does not

exist.

Is a noun but
should be

adjective.

an

Is nothing but
different
doctrines in
different

people's minds.

v
1ii
v

i



146.

- & gE-I & B Sk o
qeEl & A Ru T oRe ¥ 4 ga
SR B T BT -

A1 -1
A. ARIE @R i 1998
B. 0N e il 1999
C. HRIE FFgd  iii. 2000
D. TR GHU  iv. 1984
% -

A B C D
[yi i iv
211 i v
3]ii i
[4] iii i iv i
@it & s frefafeg & @
-q1/8 BT GER/E 7

11
11
i 1v

(A) TIR&A T&M & B STHEIN
fRy® e R

(B) 39 <1 & AJEAR TH MG
d Ry § o T fRdt @
a2

(C) fersht wrar-far & 37 & fiax Yo
W T T/l $ RS & & &

?‘c",

[1] Bad (A) T8 8

[2] 3ad (B) 3R (C) T&l &
[3] (A), (B) 3R (C) ®&I §
[4] Tt T B

Frefefed & | $I9-8 faares ol
LGN NCIIRE BINCARE RE S ME I CRIN
qMd § ?

[1] et

2] S TR

(3] Qi & i

[4] T s

Level-3/901

[45]

146.

[A]
Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-1 List-1I
A. Operation 1. 1998
Talwar

B. Operation Shakti ii. 1999

C. Operation iii. 2000
Meghdoot

D. Operation 1v. 1984
Khukri

Codes :

A B C D
[1] i1 i iv il
2] i ii iv il
B3] i1 i i iv
[4] i il v i
Which of the following statement/s
about the principle of Jus Soli is/are
correct !
(A) The place of birth is the guiding

consideration in  conferring
citizenship.
(B) According to this principle,

children of a citizen born abroad
become aliens.

(C) Children of alien parents born
within the territory of the state
become its citizens.

Codes :

[1] Only (A) is correct

[2] Only (B) and (C) are correct

[3] (A), (B) and (C) are correct

[4] All are incorrect

Which of the following thinker
considers economic equality as a
pre-condition to political liberty ?

[1] Laski

[2] Lord Acton

[3] Alexis de Tocqueville

[4] Ralph Miliband



[A]

149.

THAHD FaeqT Bl fead § &

H9- faQwar 77T e ?

[1] 9@ & a9 3 & sfeaar &
QBT &

[2] 9y & AEEI § GEed T
fFeT ST "R B

[3] FEUfEE e StfawoT B
g, g8 uH ey H e @ ®

[4] HEUfRl & Stfasara | &N
A fohaT o T B

SAFET (A) : IR H§ T Fa9d B
CECI o B M [ o
R R e WM
ey

Ericae BE MCEN BT
X fRet aom #
W et @ i
frfor ofer & st
TEyel S

[1] A &R R 391 aafFa &7 9 &
g R R, A 3 T2 e Bl

SRT (R) :

[2] A SR R 3N ARFE ©9 F T&
g AT R, A & @& e
T R

[3] AGE & QBT R T 2
[4] AT & QT R @& R

[46]

149. Which of the following features of a

Presidential system is incorrect ?

[1] There is separation of powers
between the three branches of
government.

[2] The Chief Executive cannot be
easily removed from the office.

[3] The Executive Power is
undivided, it is deposited in a
president who is both the head of
Stater and the head of
Government.

[4] The executive can be dissolved
through no confidence motion.

150. Assertion (A) : Globalization provided

the stimulus and the
site for changing state
business relations in
India.

Globalization made
foreign capital and
Indian  capital in
foreign markets more
central to  policy

formulation process.

[1] Both A and R are individually
true and R is
explanation of A.

[2] Both A and R are individually
true but R is not the correct
explanation of A.

[3] A is true but R is false.
[4] A is false but R is true.

Reason (R) :

the correct

Level-3/901
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R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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